
64, dvojité K.O. - skrátené od 8 Dončuk Cup 2011 3.7.2011

Postup B3b B3a B2b B2a B1b B1a A0 A1 A2 A3 4F  SF FIN
6

5   5 Diviš  6

Myška 4 w.o.  w.o.  Diviš 3
5 5 A Švestka 2 Myška  Benedikt 4 Benedikt 4 6

Myška 4 Myška 4 Myška 3  => H Benedikt 4
Beránek 2 Javůrek 3 Hamáček  Praus 0

Q w.o.  w.o.  w.o.  Hamáček 1  => X
7 5 B Javůrek  w.o.  w.o.  Praus 4 7 7

Žreb 1 Dončuk 1 Myška 0 Praus   => G Benedikt 4 Benedikt 4
Elis Elis 4 Dončuk 4 Šindelář  Šindelář 2 Elis 1

ST w.o.  w.o.  w.o.  Šindelář 4  => WX 1
C Hořeňovský  w.o.  w.o.  Zbořil 1

Hořeňovský 3 Hořeňovský 4 Zbořil   => F Šindelář 4
Dončuk 4 Divišová 1 Mikulecký  Šustr 2

R w.o.  w.o.  w.o.  Mikulecký 0  => W
D Divišová  w.o.  w.o.  Šustr 4 7

Šustr   => E Benedikt 4
Vondráček  Vondráček 1

Vaňous 4 w.o.  w.o.  Vondráček 4
E Mikulecký 2 Vaňous  Vaňous 2 Divišová 1

Vaňous 4 Vaňous 4 Divišová 4  => D Vondráček 4
Hajn 0 Zbořil 2 Hořeňovský  Balán 0

S w.o.  w.o.  w.o.  Hořeňovský 2  => V
F Zbořil  w.o.  w.o.  Balán 4

Žreb 3 Hamáček 1 Vaňous 1 Balán   => C Vondráček 4 Vondráček 4
Dlouhý Dlouhý 4 Hamáček 4 Kněžourek  Tužil 3 Tužil 2

QR w.o.  w.o.  w.o.  Kněžourek 4  => UV 2
G Hamáček  w.o.  w.o.  Javůrek 3

Hamáček 4 Hamáček 4 Javůrek   => B Kněžourek 1
Jadrný 1 Diviš 1 Diviš st. 1 Tužil 4

T Diviš st. 3 Diviš st.  Švestka 4 Švestka 2   => U
H Diviš 4 w.o.  w.o.  Tužil 4  o 3. miesto 7 Finále 9

Tužil   => A  qqq  Benedikt 4
Kašpar  qqq  Žalman 2

Dončuk ml. 4 w.o.  w.o.  Kašpar 1
I Michálek 1 Dončuk ml.  Hetfleiš 4 Hetfleiš 4

Dončuk ml. 2 Dončuk ml. 4 Dončuk ml. 1  => P Hetfleiš 4
Kněžourek 4 Drašar 2 Nechvíle st.  Jadrný 2

U w.o.  w.o.  w.o.  Nechvíle st. 3  => T
J Drašar  w.o.  w.o.  Jadrný 4

Žreb 4 Žalman M. Kněžourek 3 Jadrný   => O Hetfleiš 4 Hetfleiš 4
Šindelář Šindelář 4 Žalman M. Hajn  Elis 2 Dlouhý 1

WX w.o.  w.o.  w.o.  Hajn 4  => ST 3
K Žalman M.  w.o.  w.o.  Nechvíle 0

Žalman M. 4 Žalman M. 4 Nechvíle   => N Hajn 3
Balán 2 Tejchmanová 3 Havlíček  Elis 4

V w.o.  w.o.  w.o.  Havlíček 0  => S
L Tejchmanová  w.o.  w.o.  Elis 4 7

Elis   => M Hetfleiš 3
Tejchmanová  Žalman 4

w.o.  w.o.  w.o.  Tejchmanová 2
M Havlíček  w.o.  w.o.  Dončuk 4

Nechvíle 4 Havlíček 2 Dončuk   => L Dončuk 1
Šustr 2 Nechvíle 4 Dlouhý  Dlouhý 4

W w.o.  w.o.  w.o.  Dlouhý 4  => R
N Nechvíle  w.o.  w.o.  Žalman M. 3

Žreb 2 Nechvíle 0 Nechvíle 4 Žalman M.   => K Dlouhý 0 Žalman 4
Tužil Tužil 4 Praus 2 Beránek  Žalman 4 Šindelář 0

UV w.o.  w.o.  w.o.  Beránek 4  => QR 4
O Nechvíle st.  w.o.  w.o.  Drašar 1

Žalmanová 2 Nechvíle st. 1 Drašar   => J Beránek 2
Praus 4 Žalmanová 4 Žalman 4 Žalman 4

X Žalmanová 4 Žalmanová  Žalmanová 0 Žalman 4   => Q
P Kašpar 1 w.o.  w.o.  Michálek 2  

Michálek   => I  


